7.3.1

7.3: Volume: The Shell Method

Finding volume by cylindrical shells:

Vertical Axis of Revolution:

V= 27x f(x)dx where a<x<b.

Horizontal Axis of Revolution:

V=Jd2nyg<y)dy where ¢ < y<d. | NVAwwe & \ <\l
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Example 1: Find the volume of the solid formed by rotating the region bounded by y =4x,

y=0, and x=1 around the y-axis. Nad = 2 A doe
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Example 2: i

Find the volume of the solid formed by rotating the region bounded by y = x and
=,/y around the x-axis. Fird aWrseciion:
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Example 3: Find the volume of the solid formed by revolvmg the region bounded by the = zw Gﬁ\
graphsof y=x"+1, y=0, x=0, and x=1 about the y-axis. ?_ =
'Fird "\I\Wa( o U&‘—'-
= \=) (a \ ~\
Lﬁ - D—

\)ls
4
) g atn k- NPAREEPRE

o s digrassion. tn Soor) \
Shneqad olnass = g Q_((fx% X
ANL
Né& /(\r\\s pae 35 madn S (L’“qLL"L *\
Q &SI RY( w'\\\ MS 3\\Mw\

. (2
Lo s /g dna€ & | | 9‘“& (’% f):\édﬂ Al ( \
= 1< % ei—?—— - C)\ - 21‘-(’—

—

= Q'Gv\r\ A

Al

1\

I

J‘-
AN
2.



Example 4:
radius #A K.
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Find the volume of the solid formed by revolvmg the region bounded by the\= Zx% ("\R \
, y=8x—2x" about the line x=-2.
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Example 5:
graphs of y =4x—x’

U&) —nL X At
\,b - L“E’ A"\D

/L AQLJ:A\"TQ
%5

=z - L’\L"ﬁz**‘
\‘JL'!'*LV' L’Z‘\"\

pans, Qo
Tind - V\\"C‘?K or

LYY -\-AOL
o= —‘L (- ‘5

(kW)

7.3.3

Use the shell method to find the volume of a right circular cone of height 4 and
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